
PART - A [3 × 15 = 45]

Q1) Write a detail note on administration of justice in Bombay during the period
of 1668 to 1726.

Q2) “Before 1773, the executive had exercised control over the judiciary, the
Regulating Act of 1773 sought to change this pattern and authorized the
judiciary to control the executive”. Do you agree with this statement? Write a
detail note on the Regulating Act of 1773 and the Supreme Court at Calcutta.

Q3) Discuss in detail the judicial plans of Lord Cornwallis.

Q4) Write note on origin of the Privy Council. Discuss in detail the role of Privy
Council in the administration of justice during British era.

Q5) Discuss in detail the salient features of the Government of India Act, 1935.
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Third Year B.A. LL.B.

(Five Years Law Course)
LC - 0501 : LEGAL AND CONSTITUTIONAL HISTORY
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Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) Answer any Three questions from Part-A. Each question in Part - A carries 15 marks.
2) Answer any Two questions from Part-B. Each question in Part - B carries 10 marks.
3) Answer question No. 10 from Part-C as directed. Each question in Part-C carries

5 marks.
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[5932]-51 2

PART - B [2 × 10 = 20]

Q6) "According to some historians, the trial of Raja Nandkumar was a judicial
murder". Do you agree with this statement? Justify your answer with reasons.

Q7) Write a note on Montagu-Chelmsford Report and the Government of India
Act, 1919.

Q8) Explain in details the main features of the Act of Settlement 1781.

Q9) Write in detail note on the Indian High Courts Act, 1861.

PART - C

Q10) Write short notes (any three) : [3 × 5 = 15]

a) Kamaluddin’s Case

b) Black town and white town

c) Establishment of East India Company

d) Simon Commission Report

e) Mayor's Court
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Total No. of Questions : 10]

[5932]-51
Third Year B.A. LL.B.

(Five Years Law Course)
LC - 0501 : H$m`Xoera Am{U KQ>ZmË_H$ B{Vhmg

(2017 Pattern) (Semester - V)
(_amR>r ê$nm§Va)

doi : 3 Vmg     ] [ EHy$U JwU : 80

gyMZm :
1) ^mJ-A _Yrb H$moUË`mhr VrZ àíZm§Mr CÎmao Úm. ^mJ-A _Yrb àË òH$ àýmbm 15 JwU

AmhoV.
2) ^mJ-~ _Yrb H$moUË`mhr XmoZ àíZm§Mr CÎmao Úm. ^mJ-~ _Yrb àË òH$ àýmbm 10 JwU

AmhoV.
3) {ZX}emZwgma ^mJ-H$ _Yrb àíZ H«$_m§H$ 10 Mo CÎma Úm.^mJ-H$ _Yrb àË òH$ àýmbm

5 JwU AmhoV.

PA-1177

^mJ - A^mJ - A^mJ - A^mJ - A^mJ - A [3 × 15 = 45]

àíZ àíZ àíZ àíZ àíZ 1) 1668 Vo 1726 `m H$mimV _w§~B©Vrb Ý`m`àemgZmda Vnerbdma Zm|X {bhm.

àíZ àíZ àíZ àíZ àíZ 2) ""1773 nydu, H$m ©̀nm{bHo$Zo Ý`m`nm{bHo$da {Z §̀ÌU R>odbo hmoVo, 1773 À`m {Z`m_H$ H$m`ÚmZo
hr nÕV ~XbÊ`mMm à`ËZ Ho$bm Am{U Ý`m`nm{bHo$bm H$m ©̀nm{bHo$da {Z §̀ÌU R>odÊ`mgmR>r
A{YH¥$V Ho$bo''. Vwåhr `m {dYmZmer gh_V AmhmV H$m? 1773 Mm {Z`m_H$ H$m`Xm Am{U
H$bH$Îmm òWrb gdm}ÀM Ý`m`mb` `mda Vnerbdma Zm|X {bhm.

àíZ àíZ àíZ àíZ àíZ 3) bm°S>© H$m°Z©dm°{bgÀ`m Ý`m{`H$ `moOZm§Mr g{dñVa MMm© H$am.

àíZ àíZ àíZ àíZ àíZ 4) {àìhr H$m¡pÝgbÀ`m CËnÎmrda Q>rn {bhm. {~«Q>re H$mimV Ý`m` àemgZmV {àìhr H$m¡pÝgbÀ`m
ŷ{_Ho$Mr g{dñVa MMm© H$am.

àíZ àíZ àíZ àíZ àíZ 5) ^maV gaH$ma H$m`Xm, 1935 À`m R>iH$ d¡{eï>çm§Mr Vnerbdma MMm© H$am.
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[5932]-51 4

^mJ - ~^mJ - ~^mJ - ~^mJ - ~^mJ - ~ [2 × 10 = 20]

àíZ àíZ àíZ àíZ àíZ 6) ""H$mhr B{VhmgH$mam§À`m _Vo, amOm Z§XHw$_ma `m§À`mdarb IQ>bm hr Ý`m`mb`rZ hË`m hmoVr''.
Vwåhr `m {dYmZmer gh_V AmhmV H$m? Vw_Mo CÎma H$maUm§gh {gÕ H$am.

àíZ àíZ àíZ àíZ àíZ 7) _m°ÝQ>oJw-Moåg\$moS>© Ahdmb Am{U ^maV gaH$ma H$m`Xm, 1919 da EH$ Q>rn {bhm.

àíZ àíZ àíZ àíZ àíZ 8) goQ>b_|Q> E°ŠQ> 1781 Mr _w»` d¡{eï>ço Vnerbdma gm§Jm.

àíZ àíZ àíZ àíZ àíZ 9) ^maVr` Cƒ Ý`m`mb` H$m`Xm, 1861 da Vnerbdma Zm|X {bhm.

^mJ - H$^mJ - H$^mJ - H$^mJ - H$^mJ - H$

àíZ àíZ àíZ àíZ àíZ 10) {Q>nm {bhm (H$moUË`mhr VrZ) : [3 × 5 = 15]

A) H$_mbCÔrZMo àH$aU

~) H$mio eha Am{U nm§T>ao eha

H$) B©ñQ> B§{S>`m H§$nZrMr ñWmnZm

S>) gm`_Z H${_eZMm Ahdmb

B) _hmnm¡a Ý`m`mb`
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PART - A [3 × 15 = 45]

Q1) Elaborate on the Sources of Hindu Law.

Q2) Elucidate various grounds available to the parties to a Hindu Marriage
under all the theories of Divorce.

Q3) What are the essentials of valid Nikah? Which impediments are allowed
under the Shia Law and Sunni Law? Explain with suitable examples.

Q4) Explain in detail the procedure for solemnization of Marriage under the
Indian Christian Marriage Act, 1872.

Q5) What is Maintenance and what is the rationale behind making it legally
binding? Compare the provisions relating to maintenance in all the available
laws.

Total No. of Questions : 10]

[Total No. of Pages : 4

[5932]-52
T.Y. B.A. LL.B. (Semester - V)

(Third Year of Five Year Law Course)
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Instructions to the candidates:

1) All parts are compulsory.
2) Attempt any three questions from part A, two questions from part B, and

three questions from part C.
3) Figures to right indicate full marks.
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[5932]-52 2

PART - B [2 × 10 = 20]

Q6) Explain the Grounds for divorce under the Special Marriage Act, 1954.

Q7) What are the qualifications required by both male and female Hindu for
adopting a child under the Hindu Adoptions and Maintenance Act, 1956?

Q8) Elaborate on the powers and duties of all types of Guardians under the
Hindu Minority and Guardianship Act, 1956.

Q9) Write Notes on the following :

a) Muta Marriage

b) Parsi Matrimonial Courts

PART - C

Q10) Solve any three from the following : [3 × 5 = 15]
a) Wahida, a Muslim girl is married during her minority. She wants to

repudiate the marriage. Advise her.

b) Phiroz, a Parsi husband married Shebin knowing that she was suffering
from unsoundness of mind at the time of marriage. Now after four
years of marriage, he finds it difficult to live with her. He wants to
obtain a decree of divorce. Will he succeed?

c) Anita, a Hindu wife lives separately from her husband Prakash, as
Prakash has converted to Christianity. Anita wants to claim
maintenance from Prakash. Advice Anita.

d) Donna, a Christian woman files a petition for divorce on the ground
of adultery. Her husband prays for maintenance pendent lite. Will he
succeed?

e) Jyothi & Balasubramanyam both Hindus married at Madras. They
last resided together at Cochin. Jyothi presently living at Bangalore
and Balasubramanyam at Hyderabad. Balasubramanyam wants to file
a suit for divorce. In which court can he file the petition? Justify your
answer.
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Total No. of Questions : 10]

[5932]-52
T.Y. B.A. LL.B. (Semester - V)

(Third Year of Five Year Law Course)
LC-0502 : FAMILY LAW - I

(2017 Pattern)
(_amR>r ê$nm§Va)

doi : 3 Vmg     ] [ EHy$U JwU : 80
gyMZm:

1) gd© ^mJ A{Zdm ©̀ AmhoV.
2) ^mJ A _Yrb H$moUVohr VrZ àíZ, ^mJ ~ _Yrb XmoZ àíZ Am{U ^mJ H$ _Yrb VrZ

àíZm§Mr CÎmao X²̀ m.
3) COdrH$S>o Agbobo AmH$S>o nyU© JwU Xe©dVmV.

PA-2920

^mJ - A [3 × 15 = 45]

àíZ àíZ àíZ àíZ àíZ 1) qhXÿ H$m`X²̀ mÀ`m ómoVm§~Ôb {dñV¥V H$am.

àíZ àíZ àíZ àíZ àíZ 2) KQ>ñ\$moQ>mÀ`m gd© {gÕm§Vm§VJ©V qhXÿ {ddmhmgmR>r njm§Zm CnbãY Agbobr {d{dY H$maUo ñnï>
H$am.

àíZ àíZ àíZ àíZ àíZ 3) d¡Y {ZH$mh gmR>r Amdí`H$ Jmoï>r H$m` AmhoV? {e`m H$m`Xm Am{U gwÞr H$m`X²̀ m§VJ©V H$moUË`m
AS>Wi`m§Zm nadmZJr Amho? `mo½` CXmhaUm§gh ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) ^maVr` {¼íMZ {ddmh H$m`Xm, 1872 A§VJ©V {ddmh gmohi`mMr à{H«$`m Vnerbdma ñnï>
H$am.

àíZ àíZ àíZ àíZ àíZ 5) _|Q>oZÝg åhUOo H$m` Am{U Vo H$m`Xoera ~§YZH$maH$ H$aÊ`m_mJo H$m` H$maU Amho? gd© CnbãY
H$m`X²̀ m§_Yrb XoI^mbrg§~§YrÀ`m VaVwXtMr VwbZm H$am.
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[5932]-52 4

^mJ - ~ [2 × 10 = 20]

àíZ àíZ àíZ àíZ àíZ 6) {deof {ddmh H$m`Xm, 1954 A§VJ©V KQ>ñ\$moQ>mMr H$maUo ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 7) qhXÿ XÎmH$ Am{U XoI^mb H$m`Xm, 1956 A§VJ©V _yb XÎmH$ KoÊ`mgmR>r qhXÿ nwê$f Am{U _{hbm
XmoKm§Zm H$moUË`m nmÌVm Amdí`H$ AmhoV?

àíZ àíZ àíZ àíZ àíZ 8) qhXÿ Aëng§»`mH$ Am{U nmbH$Ëd H$m`Xm, 1956 A§VJ©V gd© àH$maÀ`m nmbH$m§Mo A{YH$ma
Am{U H$V©ì ò ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 9) Imbrb Jmoï>tda ZmoQ²>g {bhm …

A) _wVm {ddmh

~) nmaer d¡dm{hH$ Ý`m`mbMo

^mJ - H$

àíZ àíZ àíZ àíZ àíZ 10) Imbrbn¡H$s H$moUVohr VrZ gmoS>dm. [3 × 5 = 15]
A) d{hXm `m _wpñb_ _wbrMo Aënd`rZ AgVmZm b¾ Pmbo Amho. {Vbm b¾ ZmH$mam`Mo Amho.

{Vbm g„m X²̀ m.

~) {\$amoO `m nmaer nVrZo eo~rZer Vr _mZ{gH$Ñï>`m AñdñW Amho ho _mhrV AgyZhr b¾
Ho$bo. AmVm b¾mÀ`m Mma dfm©Z§Va Ë`mbm {VÀ`mgmo~V amhUo H$R>rU Pmbo Amho. Ë`mbm
KQ>ñ\$moQ> ¿`m`Mm Amho. Vmo `eñdr hmoB©b H$m?

H$) àH$meZo {¼íMZ Y_© ñdrH$maë`m_wio A{ZVm hr qhXÿ nËZr àH$menmgyZ doJir amhVo.
A{ZVmbm àH$me `m§À`mH$Sy>Z XoI^mbrMm Xmdm H$am`Mm Amho. A{ZVmbm g„m.

S>) S>moZm, EH$ {¼íMZ ór ì`{^MmamÀ`m H$maUmdê$Z KQ>ñ\$moQ>mgmR>r `m{MH$m XmIb H$aVo.
{VMo nVr n|S>|Q> bmBQ> XoI^mbrgmR>r àmW©Zm H$aVmV. Vmo `eñdr hmoB©b H$m?

B) Á`moVr Am{U ~mbgw~«_Ê`_ ̀ m XmoKm§Zr _Ðmg ̀ oWo qhXÿ {ddmh Ho$bm. Vo eodQ>Mo H$moMrZ ̀ oWo
EH$Ì am{hbo. Á`mo{V gÜ`m ~§Jiwê$ Am{U ~mbgw~«_Ê`_ h¡Xam~mX ̀ oWo amhVmV. ~mbgw~«_Ê`_
`m§Zm KQ>ñ\$moQ>mgmR>r Xmdm XmIb H$am`Mm Amho. Vmo H$moUË`m Ý`m`mb`mV `m{MH$m XmIb
H$ê$ eH$Vmo? Vw_À`m CÎmamMo g_W©Z H$am.
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PART - A

Answer any three of the following : [3 × 15 = 45]

Q1) Explain the concept of free consent’ according to the Indian Contract Act,
1872.

Q2) Minor’s agreement is void. Explain it with exceptions.

Q3) What is meant by consideration? Explain the rule of privity of contract
and privity of consideration.

Q4) 'All contracts are agreements but all agreements are not contracts.' Explain
it in detail.

Q5) Explain the rules relating to communication of offer and acceptance.

Total No. of Questions : 10]

[Total No. of Pages : 4
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Third Year B.A. LL.B. (Semester - V)

(Third Year of Five Years Law Course)
LC0503 : LAW OF CONTRACT - I

(2017 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) Answer any three questions from Part-A. Each question in Part - A is for 15 marks.
2) Answer any two questions from Part-B. Each question in Part - B is for 10 marks.
3) Answer any three questions from Part-C. Each question in Part - C is for 5 marks.
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[5932]-53 2

PART - B

Write any two of the following : [2 × 10 = 20]
Q6) Who can bring a suit for the rescission of a contract and on what grounds

such suit can be instituted?

Q7) Who are competent to contract under the Indian Contract Act, 1872 ?
Explain with the help of relevant examples.

Q8) What are the different modes of discharge of contract? Explain.

Q9) What remedy is available in case of breach of contract under Indian Contract
Act? Discuss.

PART - C

Q10) Write short notes on any three : [3 × 5 = 15]

a) Quasi contract

b) Liquidated and unliquidated damages

c) Temporary injunction

d) Anticipatory breach of contract

e) Tender of performance
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Total No. of Questions : 10]

[5932]-53
Third Year B.A. LL.B. (Semester - V)

(Third Year of Five Years Law Course)
LC0503 : H$amamMm H$m`Xm - I

(2017 Pattern)
(_amR>r ê$nm§Va)

doi : 3 Vmg     ] [ EHy$U JwU : 80

gyMZm:
1) ^mJ-A _Yrb H$moUVohr VrZ àým§Mr CÎmao Úm. ^mJ-A _Yrb àË òH$ àý 15 JwUm§Mm

Amho.
2) ^mJ-~ _Yrb H$moUVohr XmoZ àým§Mr CÎmao Úm. ^mJ-~ _Yrb àË òH$ àý 10 JwUm§Mm

Amho.
3) ^mJ-H$ _Yrb H$moUVohr VrZ àým§Mr CÎmao Úm. ^mJ-H$ _Yrb àË òH$ àý 5 JwUm§Mm

Amho.

PA-819

^mJ - A

H$moUË`mhr VrZ àým§Mr CÎmao {bhm … [3 × 15 = 45]

àíZ àíZ àíZ àíZ àíZ 1) ^maVr` H$ama H$m`Úmà_mUo _wº$ g§_Vr åhUOo H$m` ho ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 2) AkmZmgmo~VMm H$ama Ad¡Y Amho ho AndmXmg{hV ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) à{V\$b åhUOo H$m`? H$ama d à{V\$bmVrb ^mJrXma AgUo Am{U ZgÊ`mMm {Z`_ H$m` Amho
ho ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) gd© H$ama ho R>amd AmhoV na§Vw gd© R>amd ho H$ama ZmhrV H$go Vo ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 5) àñVmd Am{U ñdrH¥$VrÀ`m XodmZKodmUrMo {Z`_ H$m` AmhoV ho ñnï> H$am.
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[5932]-53 4

^mJ - ~
H$moUË`mhr XmoZ àým§Mr CÎmao {bhm … [2 × 10 = 20]
àíZ àíZ àíZ àíZ àíZ 6) EImXm H$ama aÔ H$aÊ`mgmR>r H$moU Xmdm AmUy eH$Vmo Am{U H$moUË`m H$maUmdê$Z ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 7) ^maVr` H$ama H$m`Úmà_mUo H$ama H$aÊ`mgmR>r nmÌ H$moU Amho ho CXmhaU g{hV ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 8) EImÚm H$amamVyZ _wº$ hmoÊ`mMo {H$Vr _mJ© AmhoV Vo ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 9) ^maVr` H$ama H$m`ÚmV H$ama §̂J Pmë`mg H$moUVo Cnm` AmhoV `mMr MMm© H$am.

^mJ - H$
àíZ àíZ àíZ àíZ àíZ 10) {Q>nm {bhm (H$moUVohr VrZ) … [3 × 5 = 15]

A) Am^mgr H$ama

~) {ZYm©[aV ^anmB© d A{ZYm©[aV ^anmB©

H$) VmËnwaVr _ZmB©

S>) nyV©Vm nyd© H$ama §̂J

B) H$ama nwV©VoMr V`mar
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PART - A

Attempt Any Three questions. [3 × 15 = 45]

Q1) What is abetment to suicide and attempt to commit suicide? How are they
punishable under IPC?

Q2) Define "Assault" and Distinguish it from use of "Criminal Force".

Q3) Discuss the importance of the right of private defence in criminal Law. Explain
when the right of private defence of the body and property extends to causing
death.

Q4) Discuss the provisions relating to ‘Trespass’ and ‘House Breaking’ under
Indian Penal Code.

Q5) Explain the concept of ‘Necessity’ and ‘Consent’ as General Exceptions for
imposing criminal liability.

Total No. of Questions : 10]

[Total No. of Pages : 4

[5932]-54
Third Year B.A. LL.B.

LC - 0504 : LAW OF CRIMES
(2017 Pattern) (Semester - V)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) Answer any three questions from Part-A. Each question in Part - A is for 15 marks.
2) Answer any two questions from Part-B. Each question in Part - B is for 10 marks.
3) Answer any three questions from Part-C. Each question in Part-C is for 5 marks.

PA-2680

SEAT No. :
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PART - B

Attempt Any Two questions. [2 × 10 = 20]

Q6) What is ‘Waging War’? How is it different from ‘Riot’?

Q7) Discuss in detail the offences against the public tranquillity under the Indian
Penal Code.

Q8) Describe the offences relating to Women punishable under the Indian Penal
Code.

Q9) Explain the provisions of the Indian Penal Code relating to offences committed
within and outside India.

PART - C

Attempt Any Three questions. [3 × 5 = 15]

Q10) Answer any Three of the following :
a) ‘A’ and ‘B’ agree to engage ‘C’ to kill ‘Z’. In pursuance of it ‘C’

attempts to kill ‘Z’ but fails. What is the offence committed by each?
b) ‘A’ a member of the crew of a ship, under the orders of the Captain,

throws 16 male passengers into sea in order to save the ship and crew
from being sunk. Explain what offence if any has committed in the
above case.

c) ‘A’ gives his wrist watch to a watch repairer. He takes away the watch
without payment of money in the absence of the watch repairer. What
offences, if any, “A” has committed?

d) ‘A’ makes an attempt to steal some jewels by breaking open a box, and
finds after opening the box, that there is no jewel in it. Discuss ‘A’s
liability.

e) ‘A’ killed ‘B’ and severed the head. A threw the head in a tank with the
intention that nobody shall identify the dead body. Discuss.


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Total No. of Questions : 10]

[5932]-54
Third Year B.A. LL.B.

LC - 0504 : bm° Am°\$ H«$mB©åg
(2017 Pattern) (Semester - V)

(_amR>r ê$nm§Va)
doi : 3 Vmg     ] [ EHy$U JwU : 80

gyMZm :
1) ^mJ-A _Yrb H$moUË`mhr VrZ àíZm§Mr CÎmao Úm. ^mJ-A _Yrb àË`oH$ àíZ 15

JwUm§gmR>r Amho.
2) ^mJ-~ _Yrb H$moUË`mhr XmoZ àíZm§Mr CÎmao Úm. ^mJ-~ _Yrb àË`oH$ àíZ 10

JwUm§gmR>r Amho.
3) ^mJ-H$ _Yrb H$moUË`mhr VrZ àíZm§Mr CÎmao Úm. ^mJ-H$ _Yrb àË`oH$ àíZ 5

JwUm§gmR>r Amho.

PA-2680

^mJ - A^mJ - A^mJ - A^mJ - A^mJ - A

H$moUVohr VrZ àíZ gmoS>dm :H$moUVohr VrZ àíZ gmoS>dm :H$moUVohr VrZ àíZ gmoS>dm :H$moUVohr VrZ àíZ gmoS>dm :H$moUVohr VrZ àíZ gmoS>dm : [3 × 15 = 45]

àíZ àíZ àíZ àíZ àíZ 1) ""AmË_hË`m H$aÊ`mg àd¥Îm H$aUo'' Am{U ""AmË_hË`oMm à`ËZ H$aUo'' åhUOo H$m`? IPC
Imbr Ë`m§Zm {ejm {H$Vr Amho?

àíZ àíZ àíZ àíZ àíZ 2) ""h_bm'' `mMr ì`m»`m H$am d VgoM Ë`mMo ""\$moOXmarnmÌ ~bà`moJm'' gmo~V AgUmao doJionU
Z_yX H$am.

àíZ àíZ àíZ àíZ àíZ 3) \$m¡OXmar H$m`XçmVrb ImOJr[aË`m ~Mmd H$aÊ`mÀ`m hŠH$ Mo _hËd Z_yX H$am. earamMm d
_mb_ÎmoMm ImOJr[aË`m ~Mmd H$aÊ`mÀ`m hŠH$ hm, _¥Ë` KS>dyZ AmUÊ`mBVnV Ho$ìhm ì`mnH$
AgVmo ho ñnï> H$am?

àíZ àíZ àíZ àíZ àíZ 4) ^maVr` X§S> g§{hVm A§VJ©V "A{VH«$_U' Am{U "Ka\$moS>r' g§~§{YV VaVwXtMr MMm© H$am.

àíZ àíZ àíZ àíZ àíZ 5) JwÝhoJmar Xm{`Ëd bmXÊ`mgmR>r gm_mÝ` AndmX åhUyZ "Amdí`H$Vm' Am{U "g§_Vr' `m g§H$ënZm
ñnï> H$am.

3 P.T.O.
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^mJ - ~^mJ - ~^mJ - ~^mJ - ~^mJ - ~
H$moUVohr XmoZ àíZ gmoS>dm :H$moUVohr XmoZ àíZ gmoS>dm :H$moUVohr XmoZ àíZ gmoS>dm :H$moUVohr XmoZ àíZ gmoS>dm :H$moUVohr XmoZ àíZ gmoS>dm : [2 × 10 = 20]

àíZ àíZ àíZ àíZ àíZ 6) "" ẁÕ nwH$maUo'' åhUOo H$m`? ""X§Jbrnojm'' Vo doJio H$go Amho?

àíZ àíZ àíZ àíZ àíZ 7) ^maVr` X§S> g§{hVoÀ`m A§VJ©V gmd©O{ZH$ em§VVoÀ`m {dê$Õ JwÝøm§Mr Vnerbdma MMm© H$am.

àíZ àíZ àíZ àíZ àíZ 8) ^maVr` X§S> g§{hVoA§VJ©V X§S>Zr` "{ñÌ`m§er g§~§{YV JwÝøm§Mo' dU©Z H$am.

àíZ àíZ àíZ àíZ àíZ 9) ^maVm_Ü ò Am{U ^maVm~mhoa Ho$boë`m JwÝømer g§~§{YV ^maVr` X§S> g§{hVoÀ`m VaVwXr ñnï> H$am.

^mJ - H$^mJ - H$^mJ - H$^mJ - H$^mJ - H$
H$moUVohr VrZ àíZ gmoS>dm :H$moUVohr VrZ àíZ gmoS>dm :H$moUVohr VrZ àíZ gmoS>dm :H$moUVohr VrZ àíZ gmoS>dm :H$moUVohr VrZ àíZ gmoS>dm : [3 × 5 = 15]
àíZ àíZ àíZ àíZ àíZ 10) Imbrbn¡H$s H$moUVohr VrZ gmoS>dm.

A) ‘A’ Am{U ‘B’ ‘Z’ bm _maÊ`mgmR>r ‘C’ bm Jw§VdÊ`mg gh_V AmhoV. Ë`m_wio ‘C’
‘Z’ bm _maÊ`mMm à`ËZ H$aVmo nU An`er R>aVmo. àË òH$mZo H$moUVm JwÝhm Ho$bm Amho?

~) OhmOmÀ`m H«y$Mm EH$ gXñ` ‘A’ H°$ßQ>ZÀ`m AmXoemZwgma OhmO Am{U MmbH$ Xbmbm
~wS>Ê`mnmgyZ dmMdÊ`mgmR>r 16 nwê$f àdmem§Zm g_wÐmV \o$H$Vmo. darb àH$aUmV H$moUVm
JwÝhm KS>bm Amho H$m? ñnï>rH$aU Xçm.

H$) ‘A’ Ë`mMo _ZJQ>mMo KS>çmi EH$m KS>çmi Xþê$ñVr H$aUmè`mbm XoVmo. KS>çmi Xþê$ñVr
H$aUmè`mÀ`m AZwnpñWVrV Vmo n¡go Z XoVm KS>çmi KoD$Z OmVmo. ‘A’ Zo H$moUVm JwÝho Ho$bo
AmhoV?

S>) ‘A’ ~m°Šg CKSy>Z H$mhr Xm{JZo MmoaÊ`mMm à`ËZ H$aVmo Am{U ~m°Šg CKS>ë`mZ§Va Ë`mV
EH$hr Xm{JZm Zmhr Ago Ë`mbm AmT>iVo. ‘A’ À`m Xm{`ËdmMr MMm© H$am.

B) ‘A’ Zo ‘B’ bm _mê$Z S>moHo$ YS>mnmgyZ doJio Ho$bo. _¥VXohmMr AmoiI nQy> Z ò, `m CÔoem
A Zo EH$m Q>mH$sV S>moHo$ \o$H$bo. A À`m JwÝhoJmar Xm{`ËdmMr MMm© H$am.


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Total No. of Questions : 10]

[5932]-59
Third Year B.A. LL.B. (Five Year Course)

LO 0509 E : INTELLECTUAL PROPERTY RIGHTS - I
  (2017 Pattern) (Semester - V)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1) Answer any three questions from Part A. Each question in Part A is for 15 marks.
2) Answer any two questions from part B. Each question in Part B is for 10 marks.
3) Answer any three questions from Part C. Each question in Part C is for 5 marks.
4) Figures to the right indicate full marks.

PA-822 [Total No. of Pages : 4

SEAT No. :

PART - A [3×15=45]

Q1) Explain the concept and nature of Intellectual Property. Discuss the various
Kinds of Intellectual property with appropriate illustrations.

Q2) Explain the meaning and definition of Copyright. Discuss the Neighboring
rights and Secondary rights relating to copyright.

Q3) Discuss the meaning, concept and nature of patent. Write a detailed note on
the patent cooperation treaty along with advantages and disadvantages of it.

Q4) Define the meaning and nature of Trade Marks. Discuss the various kinds of
marks with appropriate illustrations.

Q5) What do you mean by Intellectual property? Analysis the current issues relating
to Intellectual Property Rights with special reference to rights of indigenous
people, Protection of Bio-diversity and Traditional Knowledge along with
relevant judicial pronouncements.
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2[5932]-59

PART - B [2×10=20]

Q6) Enumerate the TRIPS provisions related to protection of Copyright.

Q7) Define the term patent and explain the subject Matter which are Patentable.

Q8) What do you mean by Industrial Designs? Analysis the advantages of Hague
Agreement.

Q9) Explain the Paris Convention for the Protection of Industrial Property and its
General Provisions.

PART - C

Q10)Write short notes on any three : [3×5=15]

a) Theories of Intellectual Property.

b) Broadcasting Rights.

c) Doctrine of Equivalents.

d) Basic Features of the Madrid Agreement.

e) The UPOV Convention.
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Total No. of Questions : 10]

[5932]-59
Third Year B.A. LL.B. (Five Year Course)

LO 0509 E : INTELLECTUAL PROPERTY RIGHTS - I
  (2017 Pattern) (Semester - V)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 80

gyMZm …- 1) ^mJ A ‘Yrb H$moUVohr VrZ àíZ gmoS>dm. ^mJ A ‘Yrb àË¶oH$ àíZmbm 15 JwU AmhoV.
2) ^mJ ~ ‘Yrb H$moUVohr XmoZ àíZ gmoS>dm. ^mJ ~ ‘Yrb àË¶oH$ àíZmbm 10 JwU AmhoV.
3) ^mJ H$ ‘Yrb H$moUVohr VrZ àíZ gmoS>dm. ^mJ H$ ‘Yrb àË¶oH$ àíZmbm 5 JwU AmhoV.

PA-822

^mJ - A^mJ - A^mJ - A^mJ - A^mJ - A [3×15=45]

à.à.à.à.à.1) ~m¡{ÕH$ g§nXoMr g§H$ënZm Am{U ñdê$n ñnîQ> H$am. {d{dY àH$maÀ¶m ~m¡{ÕH$ g§nÎmrMr ¶mo½¶ CXmhaUm§gh
MMm© H$am.

à.à.à.à.à.2) H$m°nramBQ>Mm AW© Am{U ì¶m»¶m ñnï> H$am. H$m°nramBQ>er g§~§{YV eoOmarh¸$ Am{U Xþæ¶‘ h¸$m§Mr
MMm© H$am.

à.à.à.à.à.3) noQ>§Q>Mm AW©, g§H$ënZm Am{U ñdê$nmda MMm© H$am. noQ>§Q> H$moAm°naoeZ Q´>rQ>rMo ’$m¶Xo Am{U VmoQ>o ¶m§da
Vnerbdma Zm|X {bhm.

à.à.à.à.à.4) Q´>oS>‘m³g©Mm AW© Am{U ñdê$n n[a^m{fV H$am. {d{dY àH$maÀ¶m JwUm§Mr ¶mo½¶ CXmhaUm§gh MMm© H$am.

à.à.à.à.à.5) ~m¡{ÕH$ g§nXm åhUOo H$m¶? ~m¡{ÕH$ g§nXm h¸$m§er g§~§{YV gÜ¶mÀ¶m g‘ñ¶m§Mo {díbofU ñWm{ZH$
bmoH$m§À¶m h¸$m§À¶m {deof g§X^m©gh, O¡d-{d{dYVoMo g§ajU Am{U g§~§{YV Ý¶m{¶H$ {ZU©¶m§gh nma§nm[aH$
kmZ À¶m AZwf§JmZo H$am.
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4[5932]-59

^mJ - ~^mJ - ~^mJ - ~^mJ - ~^mJ - ~ [10×2=20]

à.à.à.à.à.6) H$m°nramBQ>À¶m g§ajUmer g§~§{YV TRIPS Mr VaVwXr gm§Jm.

à.à.à.à.à.7) noQ>§Q> ¶m eãXmMr ì¶m»¶m H$am Am{U noQ>§Q> H$aÊ¶m¶mo½¶ {df¶mMo ñnï>rH$aU Úm.

à.à.à.à.à.8) Am¡Úmo{JH$ aMZm åhUOo H$m¶? hoJ H$amamÀ¶m ’$m¶Xçm§Mo {díbofU H$am.

à.à.à.à.à.9) Am¡Úmo{JH$ ‘mb‘ÎmoÀ¶m g§ajUmgmR>r n°[ag A{YdoeZ Am{U Ë¶mVrb gm‘mÝ¶ VaVwXr ñnï> H$am.

^mJ - H$^mJ - H$^mJ - H$^mJ - H$^mJ - H$

à.à.à.à.à.10) H$moUË¶mhr VrZ da bhmZ {Q>nm {bhm : [3×5=15]

A) ~m¡{ÕH$ g§nXoMo {gÕm§V

~) àgmaU h¸$

H$) g‘Vwë¶ {gÕm§V

S>) ‘m{ÐX H$amamMr ‘yb ŷV d¡{eï>ço

B>) UPOV A{YdoeZ


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